ıb

Motorized Recreation Grant Application

For: (choose all that apply)

Form 8700-159 (R 02/2024)

Page 1 of 5

Snowmobile Trail Aid

X ATV/UTV Trail Aid

Notice: Completion of this form is required under Wisconsin Statutes 23.09(26) and 23.33. Failure to complete this form will result in denial of financial assistance. Personally identifiable information found on this form is not intended to be used for any other purpose. The Department of Natural Resources (DNR) may provide this information to requesters as required by Wisconsin's Public Records law {ss. 19.31 - 19.39, Wis. Stats.}.

Instructions: Applications may combine more than one source of f	DNR Use Only				
be submitted for consideration of traditional ATV, UTV, Snowmobile and Motorized Stewardship funding. Submit one copy of all forms and attachments. See Page 2 for necessary attachments. Send applications to your <u>Community Services Specialist</u> .		Category	Number		
Section 1: Applicant Information					
		ndividual other than authorized	individual to act		
Florence County Forestry and Parks	on behalf of the ap	plicant. 🛛 🗙 Select if the sa	me as applicant.		

Individual Authorized to Act on Behalf of Applicant per Resolution				Check Recipient Name (Name to Appear on Check)					
Mathew Gummin				Mathew Gummin					
Title									
Recreation Manager				on Manager					
Address			Address						
5617 Forestry Drive			5617 Forestry Drive						
City	State	ZIP Code	City			State	ZIP Code		
Florence	WI	54121	Florence WI 5				54121		
Telephone Number	Email	Address	-						
(715) 528-3207	528-3207 mgummin@florence			cecountywi.gov					
Section 2: Project Information Require	ed for al	I Projects							
Project Title			Current Funded Miles New Miles (if applicable)				applicable)		
				60.25					

F2 Mini Pipe Replacement and	Washout	Repair	2025	_	_	68.35		
County	Township	Range		Section	1/4 1/4	1/4	GPS Coordinates	s:
2		-	ΘE				Lat. 45.8456	6001
Florence	39 N	18	\bigcirc W	21	SW	NW	Long88.256	4151

Project Description Summary

Florence County would like to rehab a section of F2 trail NW of Pine River Rd. (45.8456001,-882564151)in the town of Commonwealth. This dual use, year round trail starts on Goodman Forest and ends on County owned property Commonwealth. This dual use, year round trail starts on Goodman Forest and ends on County owned property (45.8579902,-88.2627649) to the north. This project will involve the use of 1440 yards of 6" gravel and 470 yards of 6" crushed ore. There are a 2 low spots that are 18" deep and hold water for the majority of the season and into winter freeze up. There are also several low spots that should be raised to eliminate water traps. Adding run-outs and ditching will be beneficial to the trail also. There is an existing 12" ABS pipe that serves an intermittent stream for runoff during large rain events and spring thaw that needs to be replaced due to its size. We will place 20 yards of rip-rap on both the inlet and outlet sides to slow water flow and to combat current and additional trenching or scouring. We will also brush back the trail for increased visibility and to help eliminate riders from experiencing near collisions. We are asking for 80% (\$27697.79) funding from the ATV-LITV Program and the remaining 20% (\$6074.45) from the Snowmobile Program as (\$27697.79) funding from the ATV-UTV Program and the remaining 20% (\$6924.45) from the Snowmobile Program as this does provide a benefit to this dual use trail.

ATV 80%=\$28,338.00; Snow 20% = \$7,085.00

X I certify that all maintenance land use agreements are on file.

Estimated Cost							
Maintenance	Acquisition	Insurance	Development	Br	ridge Rehab.	Trail Rehab.	Total Estimated Cost
						\$34,622.2 4	\$ 34,622.2 <u>4</u>
		Lea	ve Blank – Dl	NR Use	e Only		
						\$35,422.24	\$35,422.24
Applicant Certif	ication						
Printed Name of	Authorized Official			Official'	's Title		
Mathew Gumm	in			Recrea	ation Manager		

As the applicant's authorized official, I certify that, to the best of my knowledge, the information in this application is true and correct.

Date Prepared

57 Florence	e F2	Mini	Pipe	Trail	Reha
-------------	------	------	------	-------	------

State of Wisconsin Department of Natural Resources dnr.wi.gov

#

Due Date: April 15

Florence County Forestry and Parks

Motorized Recreation Grant Application

Form 8700-159 (R 02/2024) Page 5 of 5

Appendix B –	Required for	^r Trail/Qu	alified	l Trou	ite Reł	nab, Re	route, o	or Development		
🗙 Trail Reh	ab 🗌 C	ualified Ti	oute		New T	rail	🗌 Tra	ail Reroute (Manda	tory or Discretionary)	
County		Township	Range	ΘE	Section	on 1/4 1/4 1/4 GPS Coordinates: Lat. 45.8456001				
Florence		39 N	18	Ow	21	SW	NW	Long88.25641	51	
Funded Trail Nam F2	e or Number (SN	IARS if app	licable)		Has	-	ever rece		r rehabilitation funds in the 2022 \$11,669.00	
Trail is located on: Length of Easement or Landowner Use Agreement Expiration Date									Expiration Date	
								04/13/2025		
Landowner Where Trail is Located Telephone Number										
Goodman Forest					th), Flo	rence Co	ounty	(906) 282-2819	
What other recrea	tional trail uses a	ire planned	for this	trail?						
	Recreational uses	•			-	·		cost will be paid for	by other users?	
How many miles v			ect is no	t funde	d? ۱	Vill this re	sult in cl	osure of a trail?		
	7.5			-				(ا	/es 🔿 No	
Is this a critical se	ction to the overa	all trail syste	em?		e a reas	onable al	ternative	?		
		● Yes () No	No						
Does any section contain a bridge?	of this trail Yes		this brid the nex			abilitation O Y	-	What is the w No grading equip	veight of your puller & drag/ oment?	
									lbs.	
• Yes • No Have you contacted your local <u>DNR Water Management Specialist (WMS)</u> regarding a permit?										
○ Yes ● No Is a permit needed? (Please provide any written correspondence from WMS.)										
● Yes ○ No	Will this project	be located	near or	cross a	any inter	mittent or	perennia	al waterway? Surfac	<u>e Water Data Viewer</u>	
• Yes 🔿 No	Will this project	be located	near or	cross a	any wetla	and?				
 Yes ● No Will this project involve land disturbance – including clearing and grubbing – of 1 acre or more of land? (Less than 4/10th mile for a typical trail) <u>DNR Storm Water Contact List</u> 										

Trail Project Detailed Description

Florence County would like to rehab a section of F2 trail NW of Pine River Rd. (45.8456001,-882564151)in the town of Commonwealth. This trail dual use, year round trail starts on Goodman Forest and ends on County owned property (45.8579902,-88.2627649) to the north. This project will involve the placement of 1440 yards of 6" gravel and 470 yards of 6" crushed iron ore. There are a 2 low spots that are 18" deep and hold water for the majority of the season and extending into winter freeze up. There are also several low spots that should be raised up to eliminate water trapping. The addition of run outs and ditching may be beneficial to the trail also. There is an existing 12" culvert that serves an intermittent stream for runoff during large rain events and spring thaw that needs to be replaced due to its size. We will place 20 yards of riprap on both the inlet and outlet sides to slow water flow and to combat current and additional trenching or scouring. We will also brush back the trail for increased visibility and to help eliminate riders from experiencing near collisions. We are asking for 80% (\$27697.79) funding from the ATV-UTV Program and the remaining 20% (\$6924.45) from the Snowmobile Program as this does provide a benefit to this dual use trail.

Form 8700-014(R 02/23)Page 1 of 2For use with Recreation Grant Application Forms

\$35,422.24

Project Name:		Prepared By:	Date
F2 Mini Pipe 2025		Mathew Gummin	04/11/2024
County	Project Applicant:	Landowner Name	
Florence	Florence County Forestry and Parks	Florence County	Private

	Indicate - (C) Contract , (F) Force Acct., (D) Donated				
\downarrow	DEVELOPMENT PROJECT ITEMS List by individual item or break down by Use Areas (See Item List On Back Of This Form)	Quantity	Unit of Measure	Component Costs	Estimated Total Item Cost
C Tan	dem 128	98	hr	\$60.00	5,880.00
C Tag	Trailer 493	4	hr	\$26.00	104.00
C Grad	der 307	3	hr	\$77.20	231.60
C Doz	zer / Skidsteer 217	82.5	hr	\$53.00	4,372.50
C Loa	der 207	32	hr	\$52.00	1,664.00
C Trac	ctor w/ Wobble Wheel 283+530	3	hr	\$44.38	133.14
C Bale	e Mulcher 9284		hr	\$36.24	
C AFE	E Forestry Head 932	8	hr	\$33.62	268.96
C Feed	on Mulching Head 9408		hr	\$41.80	
C ATV	V/UTV 9145		hr	\$19.00	
C Mov	wer 413		hr	\$16.00	
C Harr	row / Disc 919		hr	\$11.00	
C Aug	ger 915		hr	\$32.00	
C Exc	avator 511	3	hr	\$58.94	176.82
C Trac	ctor 221		hr	\$39.22	
C True	ck 101		hr	\$16.00	
C Grav	vel (6" compacted to 4")	1,440	yd	\$8.00	11,520.00
C Iron	1 Ore	470	yd	\$8.00	3,760.00
C Ripi	rap	20	yd	\$20.00	400.00
C Con	ıcrete		yd	\$160.00	
C Con	ncrete (Bags)		ea	\$6.00	
C Eros	sion Control (silt fence, matting, erosion fabric)		ls	\$1,200.00	
C Gras	ss Seed, Wildlife Mix, Roadside Mix Culvert 28x20x20'		ea		\$800.00
C Lab	or	118	hr	\$51.79	6,111.22
<u>!</u>			. <u> </u>	TOTAL \$	\$3*,622.24

NOTE:

• For development projects, contingency and indirect costs are <u>not</u> eligible expenses.

• For acquisition projects, complete the Acquisition Project Cost Estimate Section of this form.



















